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1) TRADE THEORY

Question No. 1/ Question ID 288 Marks: 2.00
What is the shape of the knuckle thread?
THA IS BT MBI T 62
(A) O Trapezoid (Chosen Option)
C ST (Chosen Option)
(B) O Round (Correct Alternative)
ma (Correct Alternative)
(C) O Saw tooth
¢y
(D) O Square

Question No. 2 / Question ID 244 Marks: 2.00
Which alloy is used for coating on steel sheets of food containers?

Q@ BRI B WId Xie WR BT & o forg frsr arg o1 IugiT fasar ot 82
(A) O %;(Correct Alternative) (Chggen Option) . .
(Correct Alternative) (C@rl cb I T
(B) O Bronze @ a I I
dida

(C) O Lead

(D) © Copper
I

Question No. 3 / Question ID 23 Marks: 2.00
What is the name of the vice shown in the figure?

o o faar U argg &1 AW w8




(A) O Pin vice
[EEIGIE]
(B) O Pipe vice
BIERKCIESS!
(C) O Hand vice (Correct Alternative) (Chosen Option)
dIg¥ (Correct Alternative) (Chosen Option)
(D) O AQuick releasing vice
T a1

Question No. 4 / Question ID 104 Marks: 2.00
What is the name of the tool that is used to make fluid tight joint in riveting?
I IUBRUN T 10 7 § foraes1 IuaiT Rafe Hf wgs erge i< 9911 & forg foean sirar g2
(A) O Fullering tool (Correct Alternative) (Chosen Option)
¢ (Correct Alternative) (Chosen Option)
(B) O Rivet snap

(C) O Drift
(D) O (5au|king tool
cd

[

Question No. 5/ Question ID 202 Marks: 2.00
Which tool is used to rotate the die nut during the reconditioning of damaged threads?

&R 9 1 AW & QR S8 ¢ &I gHH & o fhe ISUHRU 1 SUAIT T et 872




(A) O Spanner (Correct Alternative)
(Correct Alternative)
(B) O Die holder
SIERIS
(C) O Allen key
T &I
(D) O Tap wrench (Chosen Option)
= (Chosen Option)

Question No. 6 / Question ID 72 Marks: 2.00
Which mechanical property of metal extends in all directions without rupturing during hammering?
YT BT DI T T T[0T gAST HRA & SR farr g et fazmadt & traan g7
(A) O Elasiticity

TRl
(B) O Fusibility
T

(C) O Ductility
GEGI

(D) O Malleability (Correct Alternative) (Chosen Option)
Srardad=iadr (Correct Alternative) (Chosen Option)

Question No. 7 / Question ID 151 Marks: 2.00
Which arc welding machine provides better heat distribution in the electrode and the job?

DI bt 311 ST 7H gATrS 3R g H dgaR dTd fAdRur Ua &Rl 87

wo mesmenst (Slobal iTi

(B) O Rectifier set (Correct Alternative) (Chosen Option)
IfFEHRR G (Correct Alternative) (Chosen Option)
(C) O Welding transformer
afeET ¢

~

D) O Engine generator set
S FIReR ¥

Question No. 8 / Question ID 213 Marks: 2.00
Which bond is used in the grinding wheel of grinding mill rolls?
& i W9 & Ufen &ia | 54 a1 ST fasa STl g2
(A) O Vitrified bond (Chosen Option)

® CI (Chosen Option)
(B) O Shellac bond (Correct Alternative)
s (Correct Alternative)
(C) O Resinoid bond
; EIS]
(D) O Silicate bond
ELSS

Question No. 9 / Question ID 303 Marks: 2.00
What is the formula for the gear ratio for thread cutting on a lathe?
AY A IS BT & fore R 3rurd &1 93 1 82
(A) O DN/DR =TPI on lead screw / TPI to be cut (Chosen Option)
DN/DR = TPI on lead screw / TPI to be cut (Chosen Option)




(B) O DR/DN =TPI to be cut/ TPl on lead screw
DR/DN = TPI to be cut/ TPl on lead screw

(C) © DN/DR =TPIto be cut/ TPl in lead screw
DN/DR = TPI to be cut / TPl in lead screw

(D) O DR/DN = TPI on lead screw / TPI to be cut (Correct Alternative)
DR/DN = TPl on lead screw / TPI to be cut (Correct Alternative)

Question No. 10 / Question ID 135 Marks: 2.00
Which type of material is used to make solder?
ISR §9H & o for e TR &1 el &1 ST fasa ST 82
(A) O Welding rod
RIS

(B) O Pure metal or alloy (Correct Alternative) (Chosen Option)

R[& UTg AT oy YTq (Correct Alternative) (Chosen Option)
(C) O Synthetic element

I dd

(D) O Non metallic element

R u1g dd

Question No. 11 / Question ID 124 Marks: 2.00
Which shearing machine is used to cut sheet metal to a thickness of 3 mm?

® I Rl A= &1 IuaiT e dea &1 3 it 31 Aiers 0% Hiea & o foan ST g2
(A) O Squaring shear
DR AR

(B) © Bench shear
ot Global 1T
(C)O %I;nd lever shear (Correct Alternative) (Chosen Optlon

Rz (Correct Alternative) (Chosen Option)
(D) O Guillotine shear

Question No. 12 / Question ID 57 Marks: 2.00
Which part of an universal surface gauge is used to set scriber exactly at the required position?
JHaad TRBY Tl & [Hy BT BT ST ThIgeR & [aepd axges Rufd H T e & o fan sirar g2
(A) O Guide pin

LIESALE]
(B) O Rocker arm
RAAR SATH
(C) O Snug
AT
(D) O Fine adjustment screw (Correct Alternative) (Chosen Option)
WigH QSTrI'\‘E'ﬂE P (Correct Alternative) (Chosen Option)

Question No. 13 / Question ID 298 Marks: 2.00
What is the advantage of cutting fluid in turning operation?
T SR § o g &1 o1 Bre 372
(A) O Increases the tool wear
FSEARRIEEIEHI
(B) O Increases the corrosion rate
&R &R FGI




(C) O Cools the tool and workpiece (Correct Alternative)
(=153 3R gHUY H ST Hal % (Correct Alternative)
(D) O Will give poor surface finish (Chosen Option)
¥R g AR G (Chosen Option)

Question No. 14 / Question ID 314

Which type of maintenance provides less down time in production?
fhd THR H1 TWRA1G IdTe § HH THY UG Il 67
(A) O Routine maintenance

RECRECIE)
(B) O Breakdown maintenance

SH SIS RN

(C) O Preventive maintenance (Correct Alternative) (Chosen Option)

YWRYIG (Correct Alternative) (Chosen Option)
(D) O Reactive maintenance

RECRRCIE]

Marks: 2.00

Question No. 15/ Question ID 321
Which process does a comprehensive examination and restoration of a system?
DI It ufehan fordt yomett &1 e g 3R TARIfoAT SRt 82
(A) O Overhauling (Correct Alternative) (Chosen Option)
el (Correct Alternative) (Chosen Option)
(B) O Testing
gfR&m

o= Global iTi

(D) O Repair
HIHd

Marks: 2.00

Question No. 16 / Question ID 188

Which decides the point angle of the drill?

f$a & ulge WId &1 B a8 Bl 872

(A) O Job material (Correct Alternative) (Chosen Option)
w9 Aefad (Correct Alternative) (Chosen Option)

(B) O Size of the drill
EEEIRIEE

(C) O Drill material

(D) O Cutting speed
HidT Wig

Marks: 2.00

Question No. 17 / Question ID 89
What is the name of the part marked as 'X' in vernier caliper shown in the figure?

o A fewmu U affeR SR 7 ' 3 RIfgd Wi w1 Am R 8

Marks: 2.00




(A) O Fixed jaw
ol

o Global iTi

(C) O Thumb lever
Uq dlaR
(D) O Depth bar (Correct Alternative) (Chosen Option)
dI¥ (Correct Alternative) (Chosen Option)

Question No. 18 / Question ID 59
Which metal property can with stand shock or impact?
DI T YT 0T S T AT P I Gl 872
(A) O Tenacity
AR

(B) O Brittleness

(C) O Toughness (Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)
(D) O Hardness

Marks: 2.00

Question No. 19 / Question ID 284
Which type of operation is carried out shown in the figure?

ey B faRaT 7T 35 U R &7 SHTOR=IA fosa ST 872

Marks: 2.00




(A) O Vee groove (Correct Alternative) (Chosen Option)
at 94 (Correct Alternative) (Chosen Option)
(B) O Square groove

©)O j(;ﬁu:dﬂgioove GIObaI iTi

e gd
(D) O Straight groove

it ga

Question No. 20 / Question ID 283 Marks: 2.00
What is the maximum swivelling angle of the compound rest in the lathe machine?

TRIE T & HH13S e HI Mfdman RIafee 1 Td 1 82
(A) O 220°
220°
(B) O gp°
90°
(C) O 360° (Correct Alternative)
360° (Correct Alternative)
(D) © 180° (Chosen Option)
180° (Chosen Option)

Question No. 21 / Question ID 42 Marks: 2.00
What is the meaning of 'Seiri' in 5S techniques?
5S Ah-11d H 'Seiri' BT T 3 82
(A) O Cleans and inspects
YHTS Bl & 3R Ffermr oar @




(B) O Removes unnecessary items (Correct Alternative)
SFTIRY® aXG3HT P §eTdT § (Correct Alternative)
(C) O Identifies storage
HERUI &1 UgdH &l &
(D) O Operating procedures (Chosen Option)
T UfehdTd (Chosen Option)

Question No. 22 / Question ID 136 Marks: 2.00
Which flux is used for soldering steel?

Aiesin Ta & fore forg v o1 Iuan fovan Sirar g7
(A) O §§|S:i[n

(B) O Zinc chloride
(C) © Ammonium chloride (Correct Alternative) (Chosen Option)

HFﬁTI?S (Correct Alternative) (Chosen Option)
(D) O Paste
U

Question No. 23 / Question ID 85 Marks: 2.00
Identify the type of drilling machine whose spindle head is moved towards or away from the column.

f$feiT 7=fiF & TSR & uga & ST RIS 88 HIad B SR a1 I g o ST STl g |

A) O SenS|t|ve bench drilling machine

EENSIRUEERIE

B) O gér%i%l;l_lrlggﬂn:rachme G I O ba I iTi

(C) O Pillar drilling machine
fgfefT =i
(D) O Radial drilling machine (Correct Alternative) (Chosen Option)
7T A=A (Correct Alternative) (Chosen Option)

Question No. 24 / Question ID 99 Marks: 2.00
What is the purpose of a groover?
IR BT 5 F18?
(A) O Compress the seam
TR BT

(B) O Releasing of seam

7 1 fefiel BT
(C) O Closing and Iocklng of seam (Correct Alternative) (Chosen Option)

3R TP HIAT (Correct Alternative) (Chosen Option)

(D) O Stress relieving durlng seam operation

I SR & GRME ¥ J I8

Question No. 25/ Question ID 222 Marks: 2.00
Which ore extracts zinc?
P T 3D ST fApTeldT 82
(A) O Calamine (Correct Alternative)
(Correct Alternative)




(B) O Cassiterite (Chosen Option)

G TRIETd (Chosen Option)
(C) O Galena

(D) O Bguxite
EICSIF

Question No. 26 / Question ID 130 Marks: 2.00
Which part of the combination set is used for marking and measuring angles within an accuracy of 1°?

TS T HT DI T UET 1° BT THdT & HaR DI &1 fafgd H 3R HT0 & g IuanT fopan S g2
(A) O Protractor head (Correct Alternative) (Chosen Option)
%3 (Correct Alternative) (Chosen Option)
(B) O Rule
d
(C) O Centre head

(D) O Square head
IR 58

Question No. 27 / Question ID 2 Marks: 2.00
What is the bin colour code for waste paper segregation?

3ARY HITS GYaHRUl & forg fom (FEea) 1 31 Pie w1 82
(A) O Red

ol
(B) Blue (Correct Alternative) (Lh t I T
© e (Correct Alternative) (ﬁigtib a I I
(C) O Black
pIcdl
(D) O Green

Xl

Question No. 28 / Question ID 19 Marks: 2.00
Which is an immediate life-saving procedure?
S It ufehar dahTat SiaH & 82
(A) O Call a doctor
Sl Dl M
(B) O Call an ambulance
U Dl el
(C) O Medical treatment
fefheT SU=R
(D) O First Aid (Correct Alternative) (Chosen Option)
iy fafeer (Correct Alternative) (Chosen Option)

Question No. 29 / Question ID 218 Marks: 2.00
What is the use of "GO" gauge in progressive plug gauge?
TIRE T 7161 & "GO" 7ol T IUINT &1 872
(A) O To check the basic limit of shaft (Chosen Option)
TP D1 JA G B1 Sl B & [T (Chosen Option)




(B) O To check the upper limit of hole
B B HU T Bt S HA & oy
(C) O To check the lower limit of hole (Correct Alternative)
ﬁﬁ Fl it T H S FA & ﬁ’l’t{ (Correct Alternative)

(D) O To check the upper limit of shaft
MU bt HUR AT B Sild B & ey

Question No. 30 / Question ID 80 Marks: 2.00
What is the name of the part marked as ‘X’ shown in the figure?

o  fezame X @ ffgd Rt o1 1H R 82

(A) O Depth gauge and stop
X
(B) O Driving motor

~

(C) O Feed handle

(D) O Drill chuck (Correct Alternative) (Chosen Option)
gd (Correct Alternative) (Chosen Option)

Question No. 31 / Question ID 231 Marks: 2.00
What is the maximum limit of size, if the basic size of the hole is 25 mm and the deviation is + 0.2mm?

Ife B¢ BT 9P BT 25 mm 3R fFTET + 0.2 mm & O 3MPR & 3if¥pdH fafte w82




(A) O 25.02 mm
25.02 mm

(B) O 24.8 mm (Chosen Option)
24.8 mm (Chosen Option)
(C) O 24.08 mm
24.08 mm

(D) O 25.2 mm (Correct Alternative)
25.2 mm (Correct Alternative)

Question No. 32 / Question ID 31 Marks: 2.00
What is the advantage of waste disposal?

3UfRIy fFueH &1 ary Fa1 g2
(A) O Uses lot of energy and resources
g4 31w ol 3R =T BT IUTNT Hxal §
(B) O Increases adverse impact on environment
TafaR0r R Ufded THTE ST &
(C) O Ensures workshop is neat and tidy (Correct Alternative) (Chosen Option)
e 'ﬁﬁﬁi—d Pl % & wrd=mer W-ﬁ'ﬂﬁ gl (Correct Alternative) (Chosen Option)

(D) © Reduces economic efficiency

3 cerd W B ot &

Question No. 33 / Question ID 185 Marks: 2.00
Which method is suitable to remove the broken stud that is very near to the surface?

g & Igd PRI ¢c gU XS B g & fod DI I fafyr Suge g2

(A) O Using square taper punch Opti
amcswanwan osl@Dal T

(B) O Making drill hole
ISREESERISH
(C) O Prick punch method (Correct Alternative)
ug fafer (Correct Alternative)
(D) O Ezy out method
Tl 3m3e fafy

Question No. 34 / Question ID 264 Marks: 2.00
When is a vernier micrometer is preferred over ordinary micrometer for taking measurement?
AT T & oY QYR AGHIHCR B gaT | af-oR ISR B &d WyfHdar df St g2
(A) O Need an accuracy of 0.01 mm (Chosen Option)

0.01 et &1 TtHar P 3Ma=THT & (Chosen Option)
(B) O Need an accuracy of 0.0001 mm

0.0001 ol &1 Wihar 1 Sa=aHdT &
(C) O Need an accuracy of 0.001 mm (Correct Alternative)

0.001 forft &t gdtmar &t sragHar % (Correct Alternative)
(D) O Need an accuracy of 0.02 mm

0.02 forft &t T ot aadHal g

Question No. 35/ Question ID 257 Marks: 2.00
What is the use of screw thread micrometer?
T IS HIZHIHICR BT SUINT &1 g2
(A) O To measure outside diameter

T8~} oI &l HYH & oy




(B) O To measure root diameter (Chosen Option)
¢ oI B AT & T (Chosen Option)
(C) O To measure minor diameter
TN AT &1 /1Y & fore

(D) O To measure effective diameter (Correct Alternative)

YT ST & U & ﬁi‘Q (Correct Alternative)

Question No. 36 / Question ID 125
What is the use of wing compass in sheet metal works?

e Hed HEl & 47 U &1 SuaiT o1 82

(A) O To draw angular lines (Chosen Option)
Wi@f@ RCICE] (Chosen Option)

(B) O To draw parallel line
B IBIGPESCIRCIEE])

(C) O To draw perpendicular line
ECGRLCIRCIEE ]

(D) O Stepping off distances (Correct Alternative)
T;ﬁTIT HH BT (Correct Alternative)

Marks: 2.00

Question No. 37 / Question ID 157
Which hand tool is used to handle the hot metal in welding?
AfeT & T erq ) YT & o fordt g% IUHRUT 1 I o STt 82
(A) O Snips (Chosen Option)
(Chosen Option)

2 Global iTi

(C) O Tongs (Correct Alternative)
€I (Correct Alternative)

(D) O Shawel
RICK!

Marks: 2.00

Question No. 38 / Question ID 166

Which rod is used in stainless steel gas welding?

WA W N AT § o e o1 U faa i g2

(A) O Columbium stainless steel (Correct Alternative) (Chosen Option)
CARICRE R R ] (Correct Alternative) (Chosen Option)

(B) O Copper coated mild steel
DI AfUd Hges L

(C) O Copper silver alloy
PR Riear Y o1g

(D) O Pure aluminium

T TegHIaA

Marks: 2.00

2) WORKSHOP CALCULATION SCIENCE

Question No. 1 / Question ID 333
What is termed as the quantity of matter contained in a body?
g # fAfed gard &) A &) o el ST 82
(A) O Density
Ydd

Marks: 2.00




(B) O Volume
SR
(C) O Mass (Correct Alternative) (Chosen Option)
SIHIA (Correct Alternative) (Chosen Option)
(D) O Specific gravity
faf1y o

Question No. 2 / Question ID 346 Marks: 2.00

What is the value of tan 45° if sin 45° = 1 / \2?
tan 45° fabd=T BT, TS sin 45° = 142 B

(A) O 1 (Correct Alternative) (Chosen Option)
1 (Correct Alternative) (Chosen Option)

(B) O
(€)O

(D) O

Global iTi

Question No. 3 / Question ID 334 Marks: 2.00
What is called mass per unit volume of a substances?
forit getef & S Ui SIS S &l o FEd 82
(A) O Mass

SHIA
(B) O Density (Correct Alternative) (Chosen Option)
Y-dd (Correct Alternative) (Chosen Option)
(C) O Volume
S
(D) O Weight
HR

Question No. 4 / Question ID 338 Marks: 2.00
What is known for the temperature at which any solid melts into liquid?
%y aEE W ®% 319, g9 § fUedar g2
(A) O Latent heat of fusion
RIS 1 Tt ST
(B) O Melting point (Correct Alternative) (Chosen Option)
UEEIED (Correct Alternative) (Chosen Option)
(C) O Boiling point
JIYTD




(D) O Latent heat of vaporisation
P 0l SHEAT

Question No. 5/ Question ID 328 Marks: 2.00
What are fundamental units?
STH Q TR SPIAT PP 67
(A) O Length, Mass, Area
daTs, THHM, &%
(B) O Length, Pressure, Volume
SCIERACIREIRGE
(C) O Length, Mass, Time (Correct Alternative) (Chosen Option)
?iiﬂé, SHIHTH, HY (Correct Alternative) (Chosen Option)
(D) O Length, Mass, Volume

Question No. 6 / Question ID 330 Marks: 2.00
How many millimetres are there in 1 inch?
139 ¥ o fcfidieR gid 67
(A) O 24.5mm
24.5 mm

B) O 2.45mm
2.45 mm

(C) O 2.54 mm
2.54 mm

(D) O 25.4 mm (Correct Alternativ, osenption) 0 .
25.4 mm (Correct Alternati{e) (@1 @I I I I

3) ENGINEERING DRAWING

Question No. 1/ Question ID 368 Marks: 2.00
Which arrow head is correct as per standard?

A& & TR DI A1 dR e Tt 82
(A) O

(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)




Question No. 2 / Question ID 356 Marks: 2.00
What is the trimmed size of A4 sheet?
A4 fte &1 foH T gaim SR F1 82
(A) O 210 x 297 (Correct Alternative) (Chosen Option)
210 x 297 (Correct Alternative) (Chosen Option)
(B) O 148 x210
148 x 210
(C) O 841x1189
841 x 1189

(D) O 594 x 841
594 x 841

Question No. 3 / Question ID 361 Marks: 2.00
Identify the name of tool?
JUBH BT A1 TgarH?

(A) O Double cutting shear

A HIe- HARA]

(B) O Hawk-billed shear
giop-fad 2R

(C) O Cutting plier (Correct Alternative) (Chosen Option)
PTe qrem T (Correct Alternative) (Chosen Option)

(D) O Aviation shear
IgIH HaAl

Question No. 4 / Question ID 351 Marks: 2.00




Compass used to draw for___.
ST BT IGAN DI T B & o7t fobar Sran 2.
(A) O triangle

[ECaL|

(B) O rectangle
S
(C) O circle (Correct Alternative) (Chosen Option)
gt (Correct Alternative) (Chosen Option)
(D) O square
S|

Question No. 5/ Question ID 353
Identify the conventional symbol of material?

Y & URURS Udieh Dl UgaH?

(A) O Porcelain
ERIEEE)

(B) O Glass
CaE)

(C) O Lead
oS

(D) O Steel (Correct Alternative) (Chosen Option)
SHId (Correct Alternative) (Chosen Option)

Marks: 2.00

Question No. 6 / Question ID 364
Which dimension correcth marked in the circle as per standard?
A& & TR Fhd H I 91 W el &1 9 fafgd 82

Marks: 2.00




lobal 1T




(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

Global iTi

4) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 555

In an economic growth, role of entrepreneur is to

3M1fes fashra o, Sert &t YHdbT ... |

(A) O generate unemployment
SRISAT} S R &

(B) O unbalance the regional development
&= AP 1 Srigfard BT

(C) O stagnate standard of living
Sl R RR

(D) O improve per capita income (Correct Alternative) (Chosen Option)
ufa safed sma | YR (Correct Alternative) (Chosen Option)

Marks: 2.00




Question No. 2 / Question ID 481 Marks: 2.00
Which one is the latest and effective means of modern communication?
MY TR HT TdHTH SR THTE FTeH S 1 82
(A) O Electronlc mail (Correct Alternative) (Chosen Option)
Ad (Correct Alternative) (Chosen Option)

(B) O Message through TV

& HIH J Nl
(C) O Postal mail

SEXS|

(D) O Fax

Question No. 3 / Question ID 395 Marks: 2.00
Fill in the blank with correct future tense of verb. “We to the zoo after Breakfast “
fhar & ol Hfdw &1d & 1Y fYad =M= W1 “We to the zoo after Breakfast “

(A) O are going
are going

(B) O had gone
had gone

(C) O will go (Correct Alternative) (Chosen Option)
will go (Correct Alternative) (Chosen Option)

(D) O went
went

Question No. 4 / Question ID 376 . . Marks: 2.00
Values are O a I I

(A) O not punctual
BEDIEE

(B) O all have same value
It &1 Jou T9H 7

(C) O very costly
ggd il

(D) O Motivates our attitude and action (Correct Alternative) (Chosen Option)

U eI 3R ib'ﬁaﬁ-f CARIEGE RG] % (Correct Alternative) (Chosen Option)

Question No. 5/ Question ID 390 Marks: 2.00
Choose the correct response for the given question. “How have you been”?

fau U vy & fore el IR @ﬁﬁl “How have you been”?

(A) O On vacation_ And you?
On vacation_ And you?

(B) © Same to you
Same to you
(C) O Very well, And you? (Correct Alternative) (Chosen Option)
Very well, And you? (Correct Alternative) (Chosen Option)
(D) O Thank you_ And you?
Thank you_ And you?

Question No. 6 / Question ID 524 Marks: 2.00




What is a shortcut key for “select all” command?
Joae A" HHS P o Th Wede Bt (Hoil) FT 82
(A) O Ctrl+V

Ctrl +V
(B) O Ctrl+C

Ctri+ C
(C)O Ctrl+X

Ctrl + X

(D) O Ctrl + A (Correct Alternative) (Chosen Option)
Ctrl + A (Correct Alternative) (Chosen Option)

Question No. 7 / Question ID 463 Marks: 2.00
Motivation is categories into
Hfedeq &l aiffpd fear mang
(A) O intrinsic and extrinsic (Correct Alternative) (Chosen Option)
IGIRED Gﬁ?m (Correct Alternative) (Chosen Option)
(B) O high and low
g% SR &l
(C) O inner and outer
TR 3R IR
(D) O good and bad
3BT 3R I

Question No. 8 / Question ID 578 Marks: 2.00

Feedback helps to
e e (Global 1T

(A) O Improve the service
T gUR B
(B) O Modify the process or system
UfchaT a1 YuITel! Dl F=MAT B
(C) O Meet customer satisfaction better
UT5h| i TGS Pl 5k b H T B
(D) O All of the above (Correct Alternative) (Chosen Option)
SWR & gt (Correct Alternative) (Chosen Option)

Question No. 9 / Question ID 585 Marks: 2.00
Information like date of birth, permanent address form a part of one’s in the resume.

S T, Rl ga o TR R A b % erRemadiel
(A) O Achievements
RLRIE]

(B) O Personal details (Correct Alternative) (Chosen Option)
faazor (Correct Alternative) (Chosen Option)
(C) O Career objectives
PRI P '

(D) O AQualifications
grdr

Question No. 10 / Question ID 532 Marks: 2.00
Which one is a cyber crime?

DI TP TIFaR WRTY g2




(A) O Sending email
U N
(B) O Chatting with friends
fot & Afew @ro=m)
(C) O Online purchasing
3{TaTS GO (W¥iE)
(D) O Online gambling (Correct Alternative) (Chosen Option)
Gﬁqﬁﬁ? Treafer (SI31T) (Correct Alternative) (Chosen Option)

Question No. 11 / Question ID 383 Marks: 2.00
To grow yourself you must
30 3170 b fABRIT B & feIY 31Ul =iy ... |
(A) O know your country
30U = DI S
(B) O know your office
30 BT B S
(C) O know yourself (Correct Alternative) (Chosen Option)
Ya CakvIE| (Correct Alternative) (Chosen Option)

(D) O know your institute
30 TR DI S

Question No. 12 / Question ID 491 Marks: 2.00
Someone is treated differently on their skin colour, income

ot &t =T B T, 3T BT ABR T dRE A HdeR [PAT SdT ©.... |

(A) O discrimination (Correct Altérn il b) |tio')T'
ﬁ‘ﬂ'q’ (Correct Alternative) @ m ﬁ) rI I

(B) O nature

(C) O unity
Uahdl
(D) O correct

Question No. 13 / Question ID 520 Marks: 2.00
The expansion of WAN is
"WAN" &7 faR § -

(A) O Web Assigned Name
Web Assigned Name

(B) O Web Aided Network
Web Aided Network

(C) O Wide Area Network (Correct Alternative) (Chosen Option)
Wide Area Network (Correct Alternative) (Chosen Option)

(D) O Wide Area Name
Wide Area Name

Question No. 14 / Question ID 570 Marks: 2.00
What does 'A' in SMART stand for?
SMART # 'A' &1 &1 314 82
(A) O Ambitious
Ambitious




(B) O Awareness
Awareness

(C) O Achievable (Correct Alternative) (Chosen Option)
Achievable (Correct Alternative) (Chosen Option)
(D) O Action
Action

Question No. 15/ Question ID 421 Marks: 2.00
Which one of the following is a good office etiquette?
fafaRad & 9 ®F 11 Ue 31 Hriad RITER 872
(A) O One should have fancy mobile ring tone
TP & U Uhall HiSTsd AT €H g1 91T
(B) O One should litter one’s work place
fdd B 304 HH & R R Hel ST Mgy
(C) O One should dress formally (Correct Alternative) (Chosen Option)
Udh P fu=Tie =U | g qﬁ:ﬁ T'-IT%Q (Correct Alternative) (Chosen Option)
(D) © One should not be punctual to work

PHTH & 0T JHT &1 UTeic ol o1 ANQT

Question No. 16 / Question ID 372 Marks: 2.00
The ability to do is

...... AP EAATEI
(A) O Experience

STJHd

(B) O Job (Correct Alternative) . .
HTH (Correct Alternative) G I O b a I I T I
(C) O Skill (Chosen Option)
(Chosen Option)
(D) O Knowledge

SﬂT—[

Question No. 17 / Question ID 525 Marks: 2.00
What is shortcut key for “Paste” command?
U HHTS & foTE QTche BT (ol T 82
(A) O Ctrl +V (Correct Alternative) (Chosen Option)
Ctrl + V (Correct Alternative) (Chosen Option)
(B) O Ctrl+A
Ctrl + A
(C)O Ctrl+C
Ctrl+C

(D) O Ctrl+X
Ctrl + X

Question No. 18 / Question ID 498 Marks: 2.00
WhICh is not the online payment App?
P T ST YT App T8l 872
(A) O India Pay (Correct Alternative) (Chosen Option)
India Pay (Correct Alternative) (Chosen Option)

(B) O Paytm
Paytm




(C) O PhonePe
PhonePe

(D) O Google Pay
Google Pay

Question No. 19 / Question ID 440

Marks: 2.00

An activity that stops or reduces stress is called a stress buster. Which of the following according to you is

not a stress buster?

T Tl S 91 &1 el § I HH Bl 8 34 W SR Bl offdl ¢ | 3% AR fFafafad § 9 &F

T QY T e 87
(A) O Going to bed on time. (Chosen Option)
9T IR fdRaR ST (Chosen Option)
(B) O Spending long hours thinking about the problem. (Correct Alternative)
W IHY 9P 99T & 9§ died eIl (Correct Alternative)
(C) O Listening to music.
LHUIGESGE!
(D) © Gardening
CIGIET

Question No. 20 / Question ID 420
Which one is NOT a vowel?
DI T TR T8 272
RO i

B)O a
a I
(C) O f(Correct Alternative) ( Choﬁ)lg b a I I I

f (Correct Alternative) (Chosen Option)
D)O e

e

Marks: 2.00

Question No. 21 / Question ID 465
The study of right and wrong in human endeavors is called
AT T § 8 3R TAd & S B G1 9Tdl §
(A) O ethics (Correct Alternative) (Chosen Option)
Qﬁlﬁ'\q (Correct Alternative) (Chosen Option)
(B) O self awareness
b ARG

(C) O motivation

AifeawH
(D) O goal
ma

Marks: 2.00

Question No. 22 / Question ID 473
Which one is considered to be a good communication?
DI T UD 33T YIR T STl 62
(A) O Sender attacks receiver
U DT RaR TR gHaAT Al
(B) O Message is ambiguous

oW 3y B

Marks: 2.00




(C) O Receiver doesn't listen to sender
Tl U &1 Tal AT

(D) O Sender is positive towards receiver (Correct Alternative) (Chosen Option)
e & ufd due IHRITES % (Correct Alternative) (Chosen Option)

Question No. 23 / Question ID 391 Marks: 2.00
Choose the correct response of the given question. “When did the accident happen™?
fau v Uy &1 Tl ufafeean %ﬁl “When did the accident happen”?
(A) O inthe hotel
in the hotel
(B) O during travelling
during travelling
(C) O At 10:30 last night (Correct Alternative) (Chosen Option)
At 10:30 last night (Correct Alternative) (Chosen Option)

(D) O On the table
On the table

Question No. 24 / Question ID 527 Marks: 2.00
What is the default name of newly created folder in windows?
IS H §H1T 7T U WiceR FT fSWiee ATH &1 8T 872
(A) O Folder

(B) O New folder (Correct Alternative) (Chosen Option)
quﬁﬁr\r (Correct Alternative) (Chosen Option)
(C) O Blank

< Global ITi
016 ron opal lili
q
Question No. 25 / Question ID 538 Marks: 2.00

Which one is an output device of the computer?
SR BT T3CYC (ST HIF AT 52
(A) O MIC

RIEEZ
(B) O Mouse

HI3H
(C) O Printer (Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

(D) O Keyboard

Dlars




